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lqj])fL gu/kflnsfsf] cfly{s aif{ 2081÷82 sf] :yfgLo ;l`rtsf]ifaf^ 

/sd vr{ ug]{ / ljlgof]hg ug]{ ;DaGwdf Joj:yf ug]{ ag]sf] P]g 

k|:tfjgf   

  lqj])fL gu/kflnsfsf] cfly{s aif{ 2081÷82 sf] ;]jf / sfo{x?sf] nflu 
;l`rt sf]ifaf^ s]lx /sd vr{ ug]{ clwsf/ lbg / ;f] /sd ljlgof]hg ug{ jf`%gLo 

ePsf]n], g]kfnsf] ;+ljwfgsf] wf/f 229 sf] pkwf/f -2_ n] lbPsf] clwsf/ k|of]u u/L, 

 :yfgLo lqj])fL gu/;efn] of] P]g :yfgLo ;l`rt sf]ifaf^ /sd vr{ ug]{ / 

ljlgof]hg ug]{, ;DaGwdf Joj:yf ug]{  ;DaGwL of] P]g agfO{ nfu' u/]sf] % . 

1= ;+lIfKt gfd / k|f/De M -1_ o; P]gsf] gfd ælqj])fL gu/kflnsfsf] ljlgof]hg P]g, 

2081Æ /x]sf]% . 

-2_ of] P]g t'?Gt k|f/De x'g]% . 

2= kl/dfiff M ljifo jf k|;+un] csf]{ cy{ gnfu]df o; P]gdf, 

-s_ æP]gÆ eGgfn] lqj])fL gu/kflnsfsf] ljlgof]hg P]g, 2081 ;Demg'k%{ . 

-v_ æsfo{kflnsfÆ eGgfn] lqj])fL gu/sfo{kflnsf ;Demg'k%{ . 

-u ægu/kflnsfÆ eGgfn] lqj])fL gu/kflnsf;Demg' k%{ . 

-#_ æ;efÆ eGgfn] lqj])fL gu/kflnsfsf] ;ef ;Demg'k%{ . 

-~_ æ;+ljwfgÆ eGgfn] g]kfnsf] ;+ljwfg ;Demg'k%{ . 

3= cfly{s aif{ 2081÷082 sf] nflu :yfgLo ;l`rt sf]ifaf^ /sd vr{ ug{ ;Sg]M -

1_cfly{s jif{ 2081÷082 sf] lgldQ sfo{kflnsf, a*f ;ldlt, ljifout zfvfn] ug]{ 

;]jf / sfo{x?sf nflu cg';"lr -1_ df plNnlvt rfn' vr{, k'Flhut vr{ / lalQo 

Joj:yfsf] /sd ;d]t u/L hDdf /sd ? 473303000 -cIf]?kL ;rfnL; s/f]* t]}lt; 
nfvf ltg xhf/ dfq_ df ga(fO{ lglb{i^ ul/P adf]lhd :yfgLo ;l`rtsf]ifaf^ vr{ 

ug{ ;lsg]% . 

4= ljlgof]hg M -1_ o; P]g$f/f :yfgLo ;l`rt sf]ifaf^ vr{ ug{ clwsf/ lbOPsf] 

/sd cly{s jif{ 2081÷082 sf] lgdQ /sd ? 473303000 -cIf]?kL ;rfnL; s/f]* 
t]}lt; nfvf ltg xhf/ dfq_ lqj])fL gu/kflnsf] sfo{{kflnsf, a*f ;ldlt / ljifout 

zfvfn] ug]{ ;]jf / sfo{x?sf] lgldQ ljlgof]hg ul/g]% . 

-2_ pkbkmf -1_ dfh'g;'s} s'/f n]lvPsf] ePtf klg sfo{kflnsf, a*f ;ldlt / ljifout 

zfvfn] ug]{ ;]jf / sfo{x?sf] lgldQ ljlgof]hg u/]sf] /sddWo s'g}df art x'g] / 
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s'g}df ck'u x'g] b]lvg cfPdf sfo{kflnsfn] art x'g] zLif{saf^ gk'u x'g] zLif{sdf 

/sd ;fg{ ;Sg]% . 

-3_ pkbkmf -2_ adf]lhd /sd ;fbf{ Ps zLif{saf^ ;f] zLif{ssf] hDdf /sdsf] bz 

k|ltztdf ga(\g] u/L s'g} Ps jf PseGbf a(L zLif{sx?af^ csf]{ Ps jf PseGbf 

a(L zLif{sx?df /sd ;fg{ tyf lgsf;f / vr{ hgfpg ;lsg]% . 

-4_ k'Flhut vr{ / ljQLo Joj:yftkm{ ljlgof]lht /sd ;fFjf e'QmfgL vr{ / Jofh 

e'QmfgL vr{ zLif{sdf afx]s cGorfn' vr{ zLif{stkm{ ;fg{ / lalQo Joj:yf cGtu{t 

;fFjf e'QmfgL vr{tkm{ lalgof]lht /sd Jofh e'QmfgL vr{ zLif{sdf afx]s cGoq ;fg{ 

;lsg] %}g . 

t/ rfn' tyf k'Flhut vr{ / ljQLo Joj:yfsf] vr{ Joxf]g{ Ps ;|f]taf^ csf]{ ;|f]tdf 

/sd ;fg{ ;lsg]%  

-5_ pkbkmf -2_ df h'g;'s} s'/f n]lvPsf] ePtfklg Ps zLif{saf^ ;f] zLif{ssf] hDdf 

:jLs[t /sdsf] bz k|ltzeGbf a(\g] u/L s'g} Ps jf PseGbf a(L zLif{sx?df /sd 

;fg{ k/]df ;efsf] :jLs[lt lng' kg]{% .  

cg';'rL –  1 

bkmf 2 ;+u ;DalGwt 

g]kfnsf] ;+lawfgsf] wf/f 229 -2_ adf]hLd ;+l`rt sf]ifaf^ lalgof]hg x'g] /sd 

आ.ब.२०८१ /२०८२ को आम्दानी वििरण  

संघिय सरकार  प्रदेश अनमुाननत नगरपानिका कूि  

घशर्षक रकम रु घशर्षक रकम रु घशर्षक रकम रु   

समाननकरण अनदुान 104500००० समाननकरण अनदुान 9503००० आन्तररक 
राजश्व 

5500०००   

सशतष अनदुान (चाि)ु 214719००० सशतष अनदुान (चाि)ु 1030००० अल्या २८०००००   

सशतष अनदुान (पुुँजीगत) ० सशतष अनदुान (पुुँजीगत) 5300०००       

विशेर् अनदुान (चाि)ु  ० विशेर् अनदुान (चाि)ु 6500०००       

विशेर् अनदुान(पुुँजीगत) ० विशेर् अनदुान (पुुँजीगत) ०       

समपरुक अनदुान 9000००० समपरुक अनदुान  13700०००       

राजश्व 95300००० राजश्व 5451०००       

कूि रकम  423519000   41484000    8300000 473303000 
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